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Direction : Answer the following questions
by selecting the correct option.

1.

According to Wegner, the force
responsible for continental drift is

(A) tidal force

(B) convectional current
(C) tensional force

(D) compressional force

Which one is correct?

(A) Kettle—Oval or elliptical hill of
glacial till

(B) Esker—Deep depression
situated along the morain belt

(C) Tarn—Small mountain lake
occupying a cirque

(D) Drumlin—Low winding glacio-
fluvial ridge

The concept of ‘base level of erosion’
was proposed by

(A) Davis
(B) Malott
(C) Johnson
(D) Powell

The rivers which drain in the same
direction as the original consequent
drainage but at the lower
topographic levels and  have
developed with respect to new base
levels are known as

(A) resequent

(B) obsequent

(C) insequent

(D) subsequent

Which of the following is not related
with sand dunes?

(A) Barchans

(B) Seifs
(C) Parabolic
(D) Zeugen
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10.

11.

The ‘Moho discontinuity’ is the
surface of demarcation between

(A) crust and mantle
(B) mantle and core
(C) mantle and outer core

(D) outer core and inner core

Which process of chemical
weathering causes rusting of iron?

(A) Carbonation

(B) Oxidation

(C) Hydration

(D) None of the above

Sea-floor spreading theory was first
propounded by

(A) Henry Hess

(B) Tuzo Wilson
(C) D. L. Holmes
(D) A. Hobbes

Red sea is an example of
(A) synclinal valley

(B) volcanic structure

(C) rift valley

(D) eroded valley

In folds where two limbs are so
much inclined that they appear to
be parallel and are called

(A) monoclinal folds
(B) overthrust
(C) isoclinal folds

(D) None of the above

Disintegration and transportation by
some environmental agents are
known as

(A) mass wasting

(B) denudation

(C) accumulation

(D) None of the above
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12.

13.

14.

15.

16.

Submarine ridge is associated with
(A) converging plates

(B) diverging plates

(C) parallel plates

(D) None of the above

The irregularities found in the long
profile of a river are commonly
known as

(A) levees

(B) knickpoints

(C) hanging valleys
(D) None of the above

Inselbergs are

(A) erosional landforms by wind
(B) depositional landforms by wind
(C) erosional landforms by glaciers

(D) None of the above

The very sharpened peaks
resembling sawteeth are called

(A) col

(B) aretes

(C) ridge

(D) None of the above

Which of the following statements of
salinity is not correct?

(A) Salinity is directly related to
wind flow

(B) There exists a direct
relationship between the rate of
evaporation and salinity

(C) Low salinity is found near the
mouth of a river

(D) The salinity is highest at the
tropics and decreases towards
poles and equator
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17.

18.

19.

20.

Terrigenous deposits of oceans are
found mainly in

(A) continental shelves and slopes
(B) deep sea plain
(C) ocean trenches

(D) None of the above

The annual range of temperature of
the ocean water depends on the

(A) regional variation in insolation
(B) nature of seas
(C) prevailing winds

(D) All of the above

Which of the following oceans
obtains highest annual range of
temperature?

(A) Baltic Sea
(B) Sea of Cambay
(C) Mediterranean Sea

(D) None of the above

Which of the following is correct?

(A) The temperature of the ocean
water decreases with the
increasing depth of ocean

(B) The temperature of the ocean
water increases with the
increasing depth of ocean

(C) Only salinity of ocean water
influences the temperature of
ocean

(D) There is no relationship between
depth and temperature of ocean
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21.

22.

23.

24.

25.

Highest salinity is found in the
(A) equator

(B) tropics

(C) poles

(D) None of the above

Sargasso sea is located in the
(A) North Atlantic Ocean

(B) South Atlantic Ocean

(C) Pacific Ocean

(D) Indian Ocean

Which oceanic current affects the
temperature of New York even
during the winter also?

(A) Labrador current
(B) Gulf stream
(C) Florida current

(D) Canary current

What is average salinity found in the
oceans?

(A) 13%
(B) 35%
(C) 47%
(D) 17%
Which one of the following pairs

produces the famous New
Foundland fogs?

(A) Norwegian and Gulf stream
(B) Labrador and Gulf stream
(C) East Greenland and Labrador

(D) Benguela and North Atlantic
drift
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26.

27.

28.

29.

30.

Which one of the following has
largest number of submarine
trenches?

(A) North Pacific Ocean
(B) South Pacific Ocean
(C) Atlantic Ocean

(D) Indian Ocean
Which one of the

submarine trenches is
Pacific Ocean?

following
in South

(A) Aleutian
(B) Kuril
(C) Bonin

(D) Mariana

The Tonga and Atacama submarine
trenches are located in

(A) Indian Ocean

(B) Atlantic Ocean

(C) North Pacific Ocean

(D) South-East Pacific Ocean

What is the most important effect of
oceanic currents?

(A) Modification of coastal climate
(B) Supplying of plankton for fishes
(C) Effects on trade and navigation

(D) None of the above

Which of the following oozes are
found at greater depth ranging from
600 ft to 12000 ft?

(A) Calcareous oozes
(B) Radiolarian oozes
(C) Siliceous oozes

(D) Diatom oozes
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31.

32.

33.

34.

35.

The height of troposphere in the
equator is

(A) 16 km
(B) 10 km
(C) 20 km
(D) None of the above

The atmospheric
decreases only up to

temperature

(A) mesosphere

(B) thermosphere

(C) stratosphere

(D) troposphere

Which layer reflects the medium and

high frequency radio wave back to
the earth?

(A) Stratosphere

(B) Ionosphere

(C) Exosphere

(D) None of the above

When the sun is vertically above the
Tropic of Cancer and Tropic of
Capricorn, the situation is called

(A) equinox
(B) solstice
(C) season
(D) spring
The portion of incident radiation

energy reflected back from the
surface is called

(A) albedo
(B) diffusion
(C) scattering
(D) absorption
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36.

37.

38.

39.

40.

The vertical transfer of heat energy
through atmosphere is called

(A) convection
(B) conduction
(C) radiation

(D) None of the above

Temperature inversion shows
(A) warmer air overlying colder air
(B) colder air overlying warmer air

(C) uniform presence of colder and
warmer air

(D) None of the above
Sinking and settling of air due to

rotation of the earth is found in the
pressure belt of

(A) equatorial low-pressure belt
(B) polar high-pressure belt
(C) subpolar low-pressure belt

(D) subtropical high-pressure belt

Temperate cyclones have
(A) eye

(B) diverging wind

(C) fronts

(D) None of the above

Wind in southern hemisphere is
deflected towards left due to

(A) rotation of the earth
(B) temperature
(C) existence of waterbodies

(D) None of the above
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41.

42.

43.

44,

45.

Cyclones develop in the region lying
between Tropic of Capricorn and
Tropic of Cancer are called

(A) temperate cyclone
(B) tropical cyclone
(C) polar cyclone

(D) None of the above

Which of the following cyclones is
more responsible for winter rainfall
in east coast of India?

(A) Temperate cyclone
(B) Tropical cyclone
(C) Western disturbance

(D) None of the above

Which of the following climatic zones
is subjected to seasonal shifting
according to migration of the sun?

(A) Mediterranean climate
(B) Monsoon climate
(C) Equatorial climate

(D) None of the above

Mediterranean climate is found in
(A) California

(B) Alaska

(C) Indonesia

(D) None of the above

Which of the following concepts is
very much related to the origin of
monsoon?

(A) Dynamic concept
(B) Thermal concept
(C) Solar energy concept

(D) None of the above
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46.

47.

48.

49,

50.

In India, monsoon rainfall is mostly
characterised by

(A) convectional rainfall

(B) orographic rainfall

(C) Both of the above

(D) None of the above

The winds blowing almost in same

direction throughout the year are
called

(A) chinook

(B) monsoon

(C) planetary

(D) local wind

Which one of the following is
correct?

(A) Ferrel cell—Easterlies

(B) Hadley cell—Trade wind

(C) Polar cell—Doldrum

(D) Intertropical convergence

zone—Westerlies

Selva forests are

(A) broad leaf evergreen forests
(B) broad leaf deciduous forests
(C) coniferous evergreen forests

(D) coniferous deciduous forests

“There is no holiday for vegetation—
growth is rapid, uninterrupted and
continuous.” This statement applies
to

(A) Taiga region
(B) Monsoon region
(C) Mediterranean region

(D) Rainy tropics
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51.

52.

53.

54.

55.

The largest variety of plants and
animals is found in the

(A)
(B)
(C)

temperate forests
monsoon forests
tropical forests

(D) tropical grassland

Find out the sequence of vegetation
zones from equator to pole.

(A) Taiga, Tundra, Selva, Savannah
(B) Selva, Savannah, Taiga, Tundra
(C) Savannah, Taiga, Selva, Tundra

(D) Tundra, Taiga, Savannah, Selva

Biosphere represents

(A) energy cycle of whole of the
organic world

(B) solar energy
(C) radiation
(D) None of the above

Soil conservation
where

is the process

(A) soil is aerated

(B) soil erosion is allowed
(C) soil is protected against loss
(D) sterile soil is converted into

fertile soil

Which of the following prevents
afforestation in desert?

(A) Sterile soil
(B) Grazing animals
(C) Low rainfall

(D) High temperature
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56.

57.

58.

59.

60.

Inert ecosystems represent
(A)
(B)
(€)
(D)

destroyed ecosystem
matured ecosystem
mixed ecosystem

succession ecosystem

The functioning of an ecosystem
mainly depends on

(A) pattern of energy flow
(B) nature of land
(C) climatic condition

(D) nature of biotic and habitat

Highest biodiversity is found in
(A) monsoon region

(B) Mediterranean region

(C) equatorial region

(D) polar region

Alpine forests occur at an altitude of
(A) 3900 m-6000 m

(B) 1900 m-3000 m

(C) 1000 m—-1500 m

(D) 500 m-1000 m

With increasing depth in the soil
profile there is

(A) gradual decrease of organic
matter

(B) gradual increase of organic
matter

(C) no definite trend of either
increase or decrease of organic
matter

(D) no relationship between organic

matter and depth of soil profile
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61.

62.

63.

64.

65.

The transition zone between two
different types of community is
called as

(A) biome
(B) ecotone
(C) biological spectrum

(D) biological clock

A pollutant in any substance,
chemical or others, changes

(A)
(B)

the natural geochemical cycles

the natural
environment

balance of our

(C)
(D)

the natural flora of a place

the wildlife of a region

Photochemical smog is related to the
pollution of

(A) soil

(B) water

(C) noise

(D) air

Checking and reradiating heat by

atmospheric dust, water vapour,
ozone, CO,, etc., is known as

(A)
(B)
(€)
(D)

greenhouse effect
radioactive effect
ozone layer effect

solar effect

Ozone layer in

affected by

stratosphere is

(A) excess COy
(B) chlorofluorocarbon
(C) low rainfall

(D) None of the above
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66.

67.

68.

69.

70.

The first link of food chain is a green
plant, because

(A) they are widely distributed

(B) they are firmly fixed to soil

(C) they alone have capacity to fix
the atmospheric CO, in
presence of sunlight

(D) there are more herbivorous

animals than the carnivorous

The number of primary producers
within a specified area would be
maximum in

(A) pond ecosystem
(B) grassland ecosystem
(C) desert ecosystem

(D) forest ecosystem

If carbon dioxide is withdrawn from

the Dbiosphere, which organism
would first experience negative
effect?

(A) Primary consumers
(B) Producers
(C) Secondary consumers

(D) Tertiary consumers

Eucalyptus is a typical example of
(A) Australian kingdom

(B) Cape kingdom

(C) Antarctic kingdom

(D) None of the above

Fifth of June is celebrated as

(A) World Environment Day

(B) Darwin’s birthday

(C) World’s Health and Hygiene Day
(D) World Population Day
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71.

72.

73.

74.

75.

Major  characteristics of  the
vegetation of a locality are controlled

(A) by man only

(B) mainly by climate

(C) by animals only

(D) by altitude of a place only

The cycling of elements in an

ecosystem is called

(A) chemical cycle

(B) biogeochemical cycle

(C) geological cycle

(D) geochemical cycle

Bunds and drains are constructed
to prevent

(A) stream bank erosion

(B) sheet erosion

(C) slip erosion

(D) gully erosion

The Himalayan alpine meadows are
famous for

(A) herbs

(B) fruits

(C) costly wood

(D) All of the above

Landslides are triggered by
(A) grain size of the area
(B) earthquake

(C) presence of too much of

boulders

(D) None of the above
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76.

77.

78.

79.

80.

The ratio of gross cropped area to
the net sown area is

(A) intensity of cropping

(B) yield of cropping

(C) land-crop ratio

(D) crop diversification

The essential feature of shifting
cultivation is

(A) intensity of crops

(B) single cropping

(C) double cropping

(D) None of the above

Which one
correct?

of the following is

(A) Malaysia—Coffee
(B) Brazil—Rubber
(C) Cuba—Sugar

(D) Hawaii—Banana

The rice-producing
associated with

areas are

(A) low density of population
(B) moderate density of population
(C) high density of population

(D) None of the above

Pelagic fishes are largely found in
(A) ocean floors of shallow water
(B) deep water

(C) lakes and ponds

(D) None of the above
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81.

82.

83.

84.

85.

Soft wood is mainly supplied by
(A) Coniferous forest

(B) Deciduous forest

(C) Siberian forest

(D) Central European forest

Mixed farming has
(A) two types of production
(B) only one type of production

(C) three types of production

including cereal crops,
pasturing of animals and cash
crop

(D) None of the above

Which of the following is renewable?
(A) Petroleum

(B) Coal

(C) Iron ore

(D) Solar energy

Which region of the USA is the most
important in iron ore production?

(A) Western States

(B) South-Eastern region

(C) Superior Lake region

(D) None of the above

Soil suitable for wheat production
should be

(A) deep drained

(B) light

(C) fine textured

(D) None of the above
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86.

87.

88.

89.

90.

Which of the following countries
uses much synthetic rubber as
natural rubber?

(A) Malaysia
(B) India
(C) USA

(D) None of the above

Which one is the ore of manganese?
(A) Haematite

(B) Pyrolusite

(C) Bituminous

(D) Chalcopyrite

Baku is famous for its
(A) coalfields

(B) oil fields

(C) copper fields

(D) None of the above

‘Operation flood’ is related to

(A) flood control

(B) fish production
(C) milk production

(D) check soil erosion

The best manganese in the world is
found in

(A) China
(B) Canada
(C) Japan

(D) New Zealand
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91.

92.

93.

94,

95.

Why are steel mills within Japan
drawn to coastal locations?

(A) Nearness to iron ore reserves
(B) Nearness to local markets
(C) Availability of cheap labour

(D) To minimise transport cost for
imported raw materials and
steel exports

The three iron and steel plants at
Kulti, Burnpur and Hirapur have
been merged together as

(A) Tata Iron and Steel Company
(B) Indian Iron and Steel Company
(C) Bengal Iron Works
(D) Mysore Iron Works

Which one of them is a ‘ootloose
industry’ ?

(A) Iron and Steel Industry
(B) Automobile Industry
(C) Cement Industry

(D) Cotton Textile Industry

Which one of the following is an
ideal combination for setting up Iron
and Steel Industry?

(A) Coal—Electricity—Market
(B) Coal—Iron ore—Water

(C) Electricity—Water—Iron ore
(D) Coal—Water—Market

The first Cotton Textile Industry in
India was established in

(A) West Bengal
(B) Surat
(C) Ahmedabad
(D) Pune

20

91.

92.

93.

94.

95.

I P 251

(A) IFRE GIRR S SIad FFoE
SRE

(B) B[R AR DI
(C) FTe WP 2y
(D) SWAFe FIGEICER 272 I 2

€ TS Ty A R
0, ALCE € WAE N2
@FuRf AARFEIE g 2@ AT =7
(A) DIl SR Q% Yol =il
(B) BT SR @ o1 Fofe
(C) (oot ST ST
(D) BT SRE S

@I o[y Mg’ @1 27 2
(A) T2-2eors e

(B) CAICHRANT! forsfiel g

(C) PrCTs e

(D) JI*fP7 I Mg

CN2-27 TS FIRAM B9 Sl STRean
i TfElke @@= 2

(A) FET—Rpe—arerE
(B) FA—C(eTR SFT—e
(C) Rpe—ew—T2 =i
(D) I —SE—TER

TRCS 22N IR R wifre sfes
(A) “IF5aRCE

(B) B

(C) SNCITRICH

(D) “eTc®



96.

97.

98.

99.

100.

In which of the following decades,
India experienced highest
percentage of decadal growth of
population?

(A) 1951-1961
(B) 1961-1971
(C) 1971-1981
(D) 1981-1991

Which one of the following reasons
dominates in rural to urban
migration in India?

(A) Marriage

(B) Education

(C) Family movement

(D) Employment

Which one of the following States of
NE India records the lowest density

of population according to 2011
census?

(A) Arunachal Pradesh
(B) Meghalaya

(C) Tripura

(D) Manipur

Demographic transition defines

(A) the trends in the mortality,
fertility and natural increase

(B) the trends in the mortality rate

only

(C) the trends in natural increase
only

(D) None of the above

Who advanced the theory of

demographic transition?

(A) Thompson and Notestain
(B) E. Ravenstin

(C) Zelinsky

(D) Whitlesey
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101.

102.

103.

104.

105.

106.

Give an ascending order to
settlement according to size :

Town, Hut, Hamlet, Village
(A) Hut—Hamlet—Village—Town
(B) Hamlet—Hut—Village—Town
(C) Hut—Village—Hamlet—Town
(D) Town—Village—Hamlet—Hut

The equatorial regions are sparsely
populated because of

(A) climatic conditions are not
suitable

(B) lack of minerals

(C) agricultural activity not

favourable
(D) None of the above

An official counting of people is
called

(A) population

(B) census

(C) demography

(D) survey

The highest density of population is
found in

(A) Western Europe

(B) SW Asia

(C) SE Asia

(D) Great Lakes and Atlantic Coast

The constituents
growth are

(A) death rate

(B) birthrate

(C) migration

(D) All of the above

of population

Oasis found in desert has the

settlement of

(A) wet point

(B) drypoint

(C) pilgrim

(D) None of the above
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107.

108.

109.

110.

111.

112.

Triangular pattern of  rural

settlement generally develops

(A) along the either side of a road,
railways

(B) at the confluence of rivers

(C) at the convergence of several
metalled and unmetalled roads

(D) All of the above

What is the big concern for defining
urban and rural areas?

(A) Size of population
(B) Activity

(C) Income

(D) All of the above

The high density of population in
Java depends on

(A) warm climate

(B) heavy rainfall

(C) rich volcanic soils
(D) All of the above

‘Push and Pull’ theory is related with
(A) migration

(B) economic development

(C) social changes

(D) All of the above

Which is the earliest example of true
urban development?

(A) Tigris and Euphrates Valley
(B) Indus Valley

(C) Hwang Ho Valley

(D) Nile Valley

The age and sex structure of
population of various countries is

(A) same

(B) having slight variation
(C) varying widely

(D) None of the above
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113.

114.

115.

116.

117.

118.

Optimum population is calculated
as per

(A) man and resources
(B) man and his potentiality
(C) man and total population

(D) None of the above

‘Transhumance’ is associated with
(A) pastoralism

(B) agriculture

(C) forest

(D) None of the above

When the people migrate from one
place to another within the same
country it is known as

(A) immigration
(B) emigration
(C) internal migration

(D) None of the above

The south-flowing rivers of Tripura
are

(A) Muhuri and Feni
(B) Haora and Feni
(C) Gomti and Deo
(D) Khowai and Manu

Tripura plains are known as
(A) Ganga Plain

(B) Agartala Plain

(C) Patkaibhum

(D) Bomdila

Lakshadweep islands are located in
(A) Bay of Bengal

(B) Arabian Sea

(C) Indian Ocean

(D) None of the above
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119.

120.

121.

122.

123.

124.

Pulicat lake is situated in
(A) Kerala

(B) Tamil Nadu

(C) Andhra Pradesh

(D) Karnataka

The main reason behind the flood in
Tripura is

(A) climate change
(B) excessive rainfall
(C) hilly landform

(D) land erosion

The jute mill of Tripura is located at
(A) Radhakishorepur

(B) Lembuchhara

(C) Kumarghat

(D) Hapania

Takmachhara is famous for
(A) fruit-processing centre
(B) rubber-processing centre
(C) jute-processing centre
(D) All of the above

Which Palace of Tripura is located in
the midst of Rudrasagar Lake?

(A)
(B)
(C)
(D)

Ujjayanta Palace
Nirmahal
Tripurasundari

None of the above

Which one is ONGC’s Power Plant in
Tripura?

(A) Palatona

(B) Monarchak

(C) Rokhia

(D) None of the above
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125.

126.

127.

128.

129.

130.

The Thermal Power Station of

Tripura is located in
(A) Dumburnagar

(B) Chakmaghat

(C) Rokhia

(D) None of the above

The altitude of Agartala is

(A) 2890 m

B) 2140 m

(C) 1360 m

(D) 12:80 m

Which of the following trees, once
very popular in social forestry, is

now taken to be environmental
hazard?

(A) Babul

(B) Amaltus
(C) Neem

(D) Eucalyptus

Cotton is grown extensively in
(A) alluvial soil

(B) black soil

(C) red soil

(D) None of the above

Khadar soil is found in
(A) flood plain

(B) foothills

(C) piedmont plain

(D) All of the above

Sandal wood is extensively found in
(A) Karnataka

(B) Kerala

(C) Tamil Nadu

(D) Andhra Pradesh
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131.

132.

133.

134.

135.

The temperature remains high

during the summer in India,

because

(A) evaporation takes place due to
cyclonic rainfall during summer

(B) monsoon winds blow from
sea to land and increase the
temperature

(C) sunrays fall vertically over the
northern hemisphere during the
summer

(D) None of the above

India’s climate is characterised by

(A) tropical monsoon
(B)
(€)
(D)

cyclonic rainfall
upper jet stream

western disturbances

Sal
(A)
(B)
(€)
(D)

forest is extremely found in
Nilgiri Hills

Dehradun Valley

Aravalli Hills

Eastern Plateau

Which of the following is the oldest
part of the Himalayas?

(A) Middle Himalayas
(B) Greater Himalayas
(C) Lower Himalayas

(D) None of the above

In India, mangrove is the most

important tree of

(A) tropical moist deciduous forests
(B) tidal forests

(C) tropical dry deciduous forests

(D) subtropical moist forests
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136.

137.

138.

139.

140.

Bokaro Coal Mine is located in
(A) West Bengal

(B) Jharkhand

(C) Orissa

(D) None of the above

Which one
correct?

of the following is

(A) Kairghiz—Central Asia
(B) Yakuts—Scandinavia
(C) Bushman—Siberia

(D) Eskimos—Alaska

In which one of the following
methods interpolation of equal value
points is used?

(A) Choroschematic
(B) Chorochromatic
(C) Isopleth

(D) Choropleth

Which one of the following is most
appropriate for showing frequency
distribution?

(A) Bar graph
(B) Histogram
(C) Pie diagram
(D) Line graph
Which one of the following
techniques is not suitable for

showing urban population on the
map?

(A) Circles

(B) Divided circles
(C) Spheres

(D) Hachures
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141.

142,

143.

144.

145.

The maps in which distribution of
differential object is shown by letter
symbols are called

(A) choroschematic
(B) chorochromatic
(C) choropleth

(D) None of the above

The maps which deal with a
particular aspect, such as climate,
distribution of population, crops,
industries, are called

(A) wall maps
(B) thematic maps
(C) chorographical maps

(D) None of the above

Latitude of a point on the earth is
measured by

(A) its distance in kilometre from
the equator

(B) its distance in angle from the
equator

(C) its distance in angle from poles

(D) None of the above

Conical projections are suitable for
representing

(A) equatorial region
(B) polar region
(C) mid-latitudes
(D) whole world

Which one
correct?

of the following is

(A) Homolographic—Equal distance
(B) Orthomorphic—Equal area

(C) Equidistance—Correct shape
(D) Azimuthal—True bearing
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146.

147.

148.

149.

150.

Topographical maps in India are
prepared by

(A) Survey of India
(B) Land Revenue Department
(C) Meteorological Department

(D) None of the above

In a frequency curve of scores, it is
found that mode is greater than
mean. It shows the distribution is

(A) symmetric
(B) negative skewness
(C) positive skewness

(D) normal

The median of the data

83, 54, 78, 64, 90, 59, 67,
70, 73, 72

is

(A) 70

B) 71

(C) 72

(D) 73

A map of RF 1 : 20,000 is to be

reduced to 1 : 80,000, the ratio of
reduction will be

A) 4:1
B) 1:4
C) 2:3
(D) 3 : 2

Contour of equal spacing represents
(A) concave slope
(B) convex slope
(C) uniform slope

(D) None of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
faferiere fde=en SiceT Fea =g

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (FICTIE2 OMR Teae[@fb ©% F9¢3 1 | OMR TS0 (GRS 7151 F161 A T80 (1< A 11 | A1 Sroma
G FR TeecE WS T SN =S Sl (I QAR e = o

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE7[@ 3% 2R7[0a TIRICH AP o] SReTge 0O 2 | (FICT SR (Y09l Ffb € *Mafosre @b 2el) OMR Ted7[@
S 2o 7Cs Crel AT 1l |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

AP SIHCT M-« OF OMR Tea7[(qq 5[ @32 27(Cad 11 fgerelcq force 23 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

TR TG FIE G2 FCHI SHRCTADBIG PTG BT ST (I R N FTR1 FoE, 7071 6 JUASTS M2, (eI, (AR
T (AR B [Toiea i “QFl 2@ /0% 2@ 0o (e 23 1l |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR TS (BN 2R (FCHR T0Cd ~FrHI-1:B I F6 Wi F1 2031 TP R SR TG IS €
FCHI SRCTADD FIE (WS I AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.
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Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

IR BASTGCAGC (TS ST M- [ FFF FACS 2Cd, LT 7] 20 OIS 220eTd #1493 AR
BB b OMR Twglq & (ReqIq 7N |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I BREICSS 2P @R OMR  TERACET (G B (R <1 SISl 1 A =11 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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